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Full Marks : 50
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4

weg [ @i oifdnl axe Teg fuw

\@/ Define rank correlation.
&N FTFFES A A |

\9/ Find geometric mean of 8 and 2.

8 SF 27 BTETS] 14 Sfeyed] |

(c) Define median.
TLIE FLSRT T3 |
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(d) Find range from the following :
TS il © o o Sfere
150, 100, 200, 400,

(e) What is skewness?

SrfFer 59

(fl Mention one merit of scatter diagram.
a4 e b1 @9 Soae w1 |

(g) Can correlation coefficient be greater
than one?

TRAIA BT GFOLF TIET 3’7 A0 2
(h) Wha is parameter?
o1oe 15 2

2. Answer any three of the following questions :
2x3=6
T3 R e foRG1 2peg Ty firay
(a) Write two uses of MS-Excel.
MS-Exceld Y5l IRZR fos |
\9/ Find mode from the following data :
T SRR {1 IS Sfere

X S (frequency)
(IR5319e])
S 2
10 6
15 13
20 7
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(c} = Mention two disadvantages of
\/ arithmetic mean.

FEq WA o1 YRt SrE 44 |

(d) Mention two measures of dispersion.
TAvgae o1 71 Sear 4T |

() What do r =0 and r =1 mean?
r=09F r=1a® @ ?

() Distinguish between an estimate and an
estimator.

P E S ed 2N g T4 |

3. Answer any two of the following questions :
5x2=10

T R (ICT BT 2 e fan

(a) Find median from the following data :

Eo EACRIE I ks b e o ey

Marks No. of Students
(73) (R1T- BTG 77330T)
10 8
20 15
30 22
40 20
50 10
60 S

a5
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(4) . (5)

(b) Explain the merits of mode a5 a (b) Find arithmetic mean :
\/ measurc of central tendency. s W Sfea
FER RTUR 4 A 7993 gz X s
el 0-10 5
() Find harmonic mean from the 10 -20 10
N
following : 38 ) 38 :';(;
wore fanfefag wargs s Sfaea 40 - 50 20
5, 7,10, 13, 15, 20, 25, 28 50 - 60 10
(d) Explain the difference between mean (¢)  Find mode from the following data :
deviation and standard deviation. A s 1] e Sl e
e fvem wF e Rve wea enda mmn Size of Garment No. of Persons Wearing
91 (comerea cory) (famzars1 o)
28 10
(e) Explain the main features of 29 20
Spearman'’s rank correlation cocfficient. 30 40 e
frommTet @ IO STER T PR 31 65 |24
T T4 | 32 so 7
33 15
()’ What is an unbiased estimator? (d) Calculate standard deviation from the
Explain. \/following data :
TS WHS {3 7 TIm w00 THA LA 4] W e S -
4. Answer any three of the following questions : Profits (¥ Lakh) No. of Companies
= R 10x3=30 aTs (7% 57e) (car=ra 1)
= T e ot o Tee fan 0-10 12
fa) What are the qualities of a good ;g:gg ,l);
average? Discuss. 30 - 40 59
£5 =7 1 @ e & 1w w= 40 - 50 16
50 - 60 03
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(6) (7))

(e) Calculate Karl Pearson’s ¢

{fici £ (h) From the following data, obtain the two
SEEReES e regression coefficients :
‘ Told O A4l A or) N
AP S s o | < O R SR B o1
X f X ;

12-5 o8 g s

17-5 49 ] }

225 54 1 :

27°5 108 s :

32:5 129 8

375 61

425 a5

* K K
47-5 33

() Discuss how scatter diagram method is
used for studying correlation.
TRAIA O A AR By e g
VIR T3 2, A 54 |

\@ Find Pearson’s correlation coefficient
from the following data and

interpret \
the result : |
T ST R PR e s SRer }
SIF FERFICHT AT 554 - ‘

Marks in Economics Marks in Statistics

(T=Tfeq 7577) (H1553 Rreaperq 7274
48

45 ‘
35 20 |
17 40 |
23 25
7 ® ECO SE
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